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Privatization Would Leave Retirees Vulnerable to Market Downturns
Washington, D.C.  - After closely following the recent fluctuations in the Dow Jones Industrial Average (DJIA), U.S. Representative Sander M. Levin issued a statement on the impact of stock market under performance on Social Security privatization. The DJIA closed yesterday at 10,012 with many analysts predicting the average will dip below 10,000 during the trading today.  Market performance is an essential component to President Bush’s Social Security privatization proposals to divert trillions from the Social Security trust fund to private investment accounts.

“President Bush’s privatization proposals undermine the basic principle of Social Security, replacing a guaranteed benefit with private accounts reliant on the performance of our financial markets,” said Rep. Levin.  “Social Security was created to give retirees a bedrock financial security that would not falter in times of economic decline.” 

“Yes, the market will rebound, but these fluctuations would have a drastic impact on private accounts,” cautioned Rep. Levin.  “If a worker happens to retire during an economic downturn, the loss from their account would equal a further reduction in their monthly payment for the duration of their retirement.” 

A recent study by the Congressional Research Service - a non-partisan division of the Library of Congress - shows the effect of even one year’s market volatility on retirees and the impact it would have on their retirement benefit for the rest of their lives.  The study calculated the difference in account balance and monthly benefit payments for two hypothetical private account holders retiring during the same year - one during an economic upswing, the other during a low point.  

Using the 2003 example cited in the study, both workers began the year with $200,000 in their private account; Worker A retired at the height of the market for that year, with a total of $244,639 in their account, which would pay them a monthly benefit of $2,002.   Worker B retired when the market was not as high, resulting in a private account total of $176,172 - over $68,000 less than worker A.  Furthermore, Worker B’s monthly benefit drawn from this account would be only $1,395 - over $600 less per month for retirement.  
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